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Augmented Matrix 

[

                  
                  
                  
                  

]  R3- (-1*R1) = R3 [

                  
                  
                 
                  

] 

 

 

 

2x1+3x2 = -1 

6x1+5x2 = 0 

2x1-5x2 = 7 

 

 



 

 

 

A) True. 

B) False, A 5x6 matrix has 5 rows and 6 columns. 

C) False, describes only one element but not entire solution set. 

D) True. 

 

 

K-2G+H = 0 

For values of Row 1 : (-2) – (-2*1) + 0 = 0 

                                       -2  +  2              = 0 

0 = 0 Therefore system is consistent. 

 

 

 



 

 

 
29)  Swap R3 with R1 

 

 

31)  Replace R3 with (R3 + (-4*R1)). 

[
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X1 [
 
 
  

]+ X2 [
 
 
 
]+ X3 =[

 
  
  

] = [
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